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https://www.100test.com/kao_ti2020/645/2021_2022__E5_86_8D_

E8_B0_88_E5_A4_9A_E6_c97_645014.htm 假设有如下代码

（Object Pascal语言描述）： T1 = class private member1 : integer.

public function func1 : Integer. virtual. function func2 : Integer.

virtual. function func3 : Integer. virtual. end. T2 = class(T1) private

member2 : integer. public function func1 : Integer. override.

function func2 : Integer. override. end. 最终结果是，T1类的实例

的内存分布图如下（仅说明原理，并不表示编译器一定也是

如此实现）： ___________________ ________________ | vptr
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